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SECTION A

Answer all the questions in the spaces provided.

1 The equation below represents a reaction between methane and chlorine.

()

(b)

CH(g) + Clao(g) — CH:Cl(g) + HCI(g)

State an essential condition required for this reaction to occur. Explain why this
condition is essential.

uv Lokt of soal\‘ak\' or 4S0°C or lm_l:. Rmp. (1)

Condition ...0. ... Mog st urareeeresnessaansd
Explanation Y. leghr ete. p rondﬁnm«aj@bw (-4 bcva )
_Da ack accepl ref. o € a. of angbgad of '}y make Cl radicals
(2 marks)
(i) State the type of mechanism involved in the above reaction.
(Free) codical subshtuhion 0)
(i) Name the three types of step involved in this mechanism.
Step 1 ....aavhabion ) C Fh\é ordes)
Step 2 ...... ?rofo‘%o‘ho"\ (... ( Dawt pe ‘+°° h"“_“k
seps . Eetminahan o). 200N
(4 marks)

(c) In addition to CH3Cl, compounds such as CH,Cl, and CH;CH,Cl may also be formed.

when chlorine reacts with methane. v

(i) Write equations for the two steps in the mechanism by which CH,Cl, is formed

from CH3Cl
' CHgd + Ar —» CHU- + HAL Q)
Mok LYgMm- EQUatION 1 ............lcenrerernnsissesssssssisesasisssassssensassensasssssnsnses
m&qm&mﬂj . eH.U. ¢+ h, —» Mpcly t de ¢)
- 004 YEQUALION 2 ... T B D0 st
3 oc CHL U + e —» <Hack,

(i) Write an equation to represent a step in the mechanism in which CH3CH,Cl is
formed. cW, . + CHy. —p CHJCH, K '

..... of cHicHix Ky —» chgem ke d. Q)
of CAgWH = « U — CRycH, L (3 marks)

(\Qa./ ot hove CHg CH, U an Pl‘adu-e\')

{RCCQP.\" CLHSU')
Pemabas obsemce o « ores mk:) www.theallpaperIS“.C"O'r?1ve
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2 (a) In the manufacture of margarine, unsaturated vegetable oils such as sunflower oil are
hardened.

(i) State the reagent and conditions used in this process.

Hi=0 Reagent ....... Hﬁ ....... em.ob K ] Q) e
7 )

Koz X maxx  Conditions ... N"(c“"““as‘-)(qlb“m‘(rt) .........

M3 Nao 't p.’

: i Romp)
2120 Hhes T3 hedh'°°‘z°°°c°'m°x ......... . . N°\'t:‘?~1w .......

20
(i) Soft and hard margarines are obtained from the same vegetable oil. How does the
structure and the melting point of a soft margarine differ from that of a hard one?

Difference in structure 5°§'\'m°f8°‘“"ew"ﬂamﬂumww
0¥ h..z MOte@ C=cbewds of U more unsahufaled Haw hod morgoriae
-N\fq‘\sqy\ ................................................... seseceicreerccstrunansassonsnce creeressecinancstantscasererscasanannne

Difference in melting point sof—k ............... . U)vdtfmn.lhmsfm'(' ...... Q )

...................................................

(b) In the presence of reagent X, the alcohol shown below undergoes a reaction to form two

isomeric alkenes.
HO H

[
CH3—C|—(|?—CH3
H CH;

(i) Name this alcohol.

...........................................................................................................

2limumalion or clﬂ-'ﬂggrahm o . ()

...... oo cseeshe msessdusenasscaranan L T T T T )

(iii) Suggest the identity of reagent X.

(iv) Give the structural formulae of the two isomeric alkenes.

Alkene 1 - Alkene 2
HH
[} - —_c =
™ cH4q s <Hy
Q)
)
(dos.’bh- bond

M ST lat s hew™
(A’Q(V"’ M\Aa mt(‘cx Mwbdiag\w sh-u&v;@_g) (5 marks)

‘¥ Wut-l-ene amd Our-2-one OF{-U‘QC‘( allow M2
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3 Propene reacts with bromine by a mechanism known as electrophilic addition.

farm one waleads )

(b) Explain why bromine, a non-polar molecule, is able to react with propene.

4No‘r8-u\‘ (hr\al«\e.’ demse of € fichh c=¢ of € rich T boad o

........................................................................................................

‘e =d! e~ betwemn rhe Cs. (l)
Cowmods wndmeed dapole A 6(;_ ©)
gpore” tﬁ-sw‘Pwun‘ ..................................................................................................

. ' " (2 marks) .
com swots AL Evone 3+(5- e Bra irm () Unless a cantrmdictumg etrar ud (o)

(c) Outline the mechanism for the electrophilic addition of bromine to propene. Give the
name of the product formed.

Mechanism 1§ Mf,¢¢Me, Case NS (wa taaq coakiaw)
f

- m
!
| H"Cj CHCHy Ha ?-* Cé)"“c“"; 5 H,_c.- Q‘H CH,
/ POy curly Q) G, - — &r C 2. 6, B¢
NI (== *or .
<< o) )
f PN 7SO B .
Mot M cowseg, on M3
Name of product ")"dthMQProfMQQ) .......................................
(5 marks)

(d) The polymerisation of propene to form poly(propene) is an important industrial proceés.
Name the type of polymerisation involved.

add. hon Q)]

.......................................................................................................................................................

1 k
NaoY ' ado\ihmd., (I mark)
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4 Two reactions of compound A are shown in the reaction scheme below.

CH;CH,CH,CH,OH
B
CH;CH,CH,CHO
A .
K,Cr,O/H"
Compound C

(a) (i) = State the type of reaction occurring in the conversion of compound A into
- compound B. Identify a suitable reagent Y.

Type of reaction ... e e K e

Reagent Y SOANM ba mhﬁbrh‘t ot Na GH"' or M bt KS)
(Nov Na BHe for Wydregomakiow ‘
(ii) Write an equation for the conversion of compound A into compound C.
Use [O] to represent K,Cr,0,/H" .
CH3CH,CH, CHO ¢ [o] —> ©CHyCH, CH, CooH )

------------------ e eescescasersrasansnssusctctsetssrsasantastenen

oftgX LTl ovrS afowe (3 marks)
m"k C:H,CHO * Q;H-'CﬂQH

(b) Functional group isomerism is one type of structural isomerism.

(i) Explain what is meant by the term functional group isomerism.

LEAVE
MARGIN
BLANK

()

(compavads) wnth same mAleedas formula. of ramloss ¥ hype of cbewmis )

..................................

Ltk b Wilkgkoms aftamged ue fiffuerk funchonad 9 Cowf) Q)
X or T - o —

(i) = Give the name or structural formula of a functional group isomer of compound A
which contains only one functional group.

butomane av  CHICOOAL CHy ...

: - 3 ks

of L‘-H'k\"b&(o?‘”‘m o¢ C\H,_ C{: (3 marks)
LH:‘ o,c' L

of oY Moﬁ\ﬂ. s hucture
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(c)

(i) State what is meant by the terms empirical formula and molecular formula.

(actuel) pambas of  ohkems of comh dawenk

Molecular formula .x.............f.. o eeeeeerecerserssorssesessssssssssssessensio e ereres e erere e eres

PM W~ o~ WJ* of ma(LwLo. (D

.............................................................................................................................................

(ii) Deduce the empirical formula and the molecular formula of compound D
(M, = 116) which contams 62.07% carbon, 10.34% hydrogen and 27.59% oxygen

bymass. ¢ “ o
. W
21 I A o3¢ o T i,
................ fahe CiHig 2316:( . Gmp. foem. = CsHea ()
............... Mot Farm (= 'G5 < Cehe) = CeHaO, )

---------------------------------------------

6-‘: o rtedk amswe, W Otkamg Py -useuHa.ﬂ)(5markS)

TURN OVER FOR THE NEXT QUESTION
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5 (a) The equation below shows the reaction of 2-bromopropane with an excess of ammonia.
CH3;CHBrCHj; + 2NH; — CH3;CH(NH,)CH3 + NHBr

Name and outline the mechanism involved.

Name Of MECRANISN ......uuenecierreeieile ettt st casaes

Mechanism ; . :
Srawg aspele C{Hs[&m Q) ‘"“3 (m 's for warredr
- scff ov <8s CH - < Y S CHy - C\-éH S gp-ﬂo;mhow ~\
Adsto ¢ 1 —?  waid wrewn
Q-\&r LI) (o W= N v

moiic) tNM,

(5 marks)

(b) When 2-bromopropane is heated with ethanolic potassium hydroxide, an elimination
reaction occurs. State the role of potassium hydroxide and outline a mechanism for this

reaction.
Role of p&tassium hydroxide ... ﬁ asa )
Mechanism
W \
RV "
3 e — ey, ~C Q)
9 P4 2
Hn—C<4 |
{ - cH .
~ t: OM
a)

“
ﬁa_lﬂ'S C_Hs—-'c"c;_H
® H (5 marks)

- www.theallpapers.com

LEAVE
MARGIN
BLANK


http://www.xtremepapers.net

37 LEAVE:
MARGIN.
BLANK |

SECTION B

Answer both questions below in the space provided on pages 9 to 12 of this booklet.

6 (a) Gasoil (diesel), kerosine (paraffin), mineral oil (lubricating oil) and petrol (gasoline) are
four of the five fractions obtained by the fractional distillation of crude oil within the
temperature range 40-400°C. '

Identify the missing fraction and state the order in which the five fractions are removed
as the fractionating column is ascended. Give two reasons why the fractions collect at
different levels in the fractionating column. (4 marks)

(b) Thermal cracking of large hydrocarbon molecules is used to produce alkenes. State the
type of mechanism involved in this process. Write an equation for the thermal cracking
of G;1Hys in which ethene and propene are produced in a 3:2 molar ratio together with
one other product. (3 marks)

(c) Write equations, where appropriate, to illustrate your answers to the questions below.

(i) Explain why it is desirable that none of the sulphur-containing impurities naturally
found in crude oil are present in petroleum fractions.

(ii) The pollutant gas NO is found in the exhaust gases from petrol engines. Explain
why NO is formed in petrol engines but is not readily formed when petrol burns
in the open air.

(iii) The pollutant gas CO is also found in the exhaust gases from petrol engines.
Explain how CO and NO are removed from the exhaust gases and why the
removal of each of them is desirable. (10 marks)

7 Ethanol is produced commercially by fermentation of aqueous glucose, CgH;,0¢
State two conditions, other than temperature, which are necessary for fermentation.
Explain why neither a low temperature nor a high temperature is suitable for this reaction.
Give two advantages of this method of production over that by the direct hydration of ethene.
Write an equation for the production of ethanol by fermentation and an equation for the
complete combustion of ethanol. -~ (8 marks)

END OF QUESTIONS

............................................................................................................................................................................
............................................................................................................................................................................

............................................................................................................................................................................
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SECTION B

Question 6
(a) Missing fraction = naphtha (allow naphtha from list if not quoted separately) (1)
Order = mineral oil (lubricating oil), gas oil (diesel), kerosine (paraffin), ¢))
naphtha, petrol (gasoline)

(mark order consequential on M1) (if no missing fraction given, M2=0)
(accept correct reversed order)

Negative temperature gradient on the column ¢))
_or temperature of column decreases upwards

Larger molecules or heavier fractions condense at higher temperatures or (€)) 4
lower down the column or reference to different boiling points (ignore mp)

(b) Type of mechanism = (free) radical / homolytic fission - used in complete 1)
sentence/phrase
CaHu — 3CH, + 2CHs + CgHy correct alkenes 1)
Accept CH;CH, & CH,CHCHj all correct 4] 3
(¢) (i) Sulphur (containing impurities) burn to form or forms SO, or oxides of ¢))

sulphur (if oxide identified, must be correct)
Or equation: e.g. S +0; —» SOorH,S + 120, —» SO, + H;O

Leading to acid rain (must have specified oxides of S or burning) ¢))
or toxic product or respiratory problems '

(ii)) NO formed by reaction between N, and O, from the air 1)
Or N, + O - 2NO
High combustion temperature or spark in engine ¢y}
provides E, or sufficient heat/energy to break N=N bond 4]

(iii) Need to remove NO as forms acid rain or toxic product or causes respiratory (1)
problems .
2NO + O; — 2NO; : (1)
4NO, + O, + 2H,0 — 4HNO; , ¢))
Need to remove CO as it is poisonous )
Catalytic converter )
uses PYRWPA/Ir  (wrong answer cancels a correct one) )
provides active sites / reduces E, )
Forms N, + CO, 1)
2NO +2CO — N; + 2CO, (correct equation worth last 2 marks) 1 1‘;;‘

Total
17
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Question 7

_ Advantage 2

39

Conditions = two from yeast (anywhere in question)
Air excluded or sterile/clean |
(Ignore references to pressure/temperature/aqueous/dark/high alcohol conc)

Temperature too low inactivates/deactivates enzymes or reaction too slow
Temperature too high destroys or denatures yeast/enzymes
(Not — kills enzymes; no t — deactivates here)

Advantage 1 = .sugar/glucose/carbohydrate is renewable resource/source
= production uses low level technology/cheap equipment
(Ignore references to energy. Do not allow contra-arguments about ethene)

C5H|206 - 2CH3CH20H + 2C02 balanced

CszOH + 302 e d 2C02 + 3H20 balanced

(Allow C:HsO but penalise C;HsHO once)

-

)

(1)
M

1)
)

0))
0))

Total
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